3 ODEDIMBEE

% Al A H a9 B
M 120+8+5= an 48+-(14—-8)=
@ X (X4 = (18 3XT+4=

@ 9421 +7= (19 HX8X3=

@ 8+ (7+8)= @0 (67+3)+7=
® (63—9 +9= en 16—7—2=
© 2+2—2= Q> 11—-49+-7=
M 4X Q1 =+N= @ (1+5)X8=
® 49+-7+5= ) H+T7Xb6=

@ 10+-0+4)= 28 4X4—5b=
(100 22 —2X8= @) 7T+@8—-2)=
an 6+@Q4+-4)= en 14—(06+8)=
(12 7TX9+9= 28 144 -(8X6)=
(19 16+8X3= @ b—B—4) =
(14 3X(B+8)= QO 4+84+7=
(15 7—3+8= @) 6X@B8—=0)=
1o (17=9) X 7= G2 28+4—56=




)

3

4)

®)

(6)

N

8

@

42

06

B3ODEKDMRBRER (BXK)

(20)

@n

(22)

(23)

(24)

(25)

(26)

@7

(28)

29

(30)

@3N

(32)

48

47

2



